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{a)} Find the size of the angle x.
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(b} Calculate the size of the angle y.
Answer

1) 100 students are asked if they like tea.
45 of these students are boys.

28 girls like tea.

19 boys dislike tea.

Complete the frequency tree.

dislike tea 1
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12 A 10cm x 6cm rectangular card overlaps a 12cm » 8 cm card as shown

Calculate the area nof shaded.
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15 A Christmas Log cake has a uniform cross-sectional area of 120¢cm? and a length
of 22 cm. ,

Calculate the volume of the cake. | éme _ fﬁ{) Q.\}
= Area x L@gﬁ” M

Vohme =
\0 x L

a

\Joleme = —
,24%:; %@ Answer Zé?}étﬁo cm’ [2]
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Calculate the value of d whene=-8, f=12 and g =4

L o f

. ; e

5’{"’ ,
Answer d= ._..i 2]

e

{
|
o

|

D
3!
§

(S



